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1. The	value	of	3.3	+	10.2	is
(i) 13.400 (ii) 13.500 (iii) 13.700 (iv) 13.600 (v) 13.300

2. The	value	of	20.011	+	23.014	is
(i) 43.025 (ii) 43.125 (iii) 42.825 (iv) 42.925 (v) 43.225

3. The	value	of	569.1	+	156.266	is
(i) 725.3660 (ii) 725.1660 (iii) 725.4660 (iv) 725.2660 (v) 725.5660

4. The	value	of	88.2	+	42.0025	is
(i) 130.1025 (ii) 130.4025 (iii) 130.0025 (iv) 130.3025 (v) 130.2025

5. The	value	of	9.04	−	3.10	is
(i) 5.94 (ii) 5.84 (iii) 5.74 (iv) 6.04 (v) 6.14

6. The	value	of	25.83	−	18.8	is
(i) 6.93 (ii) 7.23 (iii) 7.13 (iv) 7.03 (v) 6.83

7. The	value	of	78.065	−	28.78	is
(i) 49.485 (ii) 49.185 (iii) 49.085 (iv) 49.285 (v) 49.385

8. The	value	of	217.493	−	277.2	is
(i) -59.907 (ii) -59.607 (iii) -59.807 (iv) -59.707 (v) -59.507

9. 84.8	+	______	=	115.1
(i) 32.3 (ii) 29.3 (iii) 28.3 (iv) 30.3 (v) 31.3

10. 84.14	+	______	=	79.25
(i) -3.89 (ii) -5.89 (iii) -2.89 (iv) -6.89 (v) -4.89

11. 37.416	+	______	=	97.475
(i) 61.059 (ii) 58.059 (iii) 60.059 (iv) 59.059 (v) 62.059

12. 99.1358	+	______	=	153.5027
(i) 53.3669 (ii) 55.3669 (iii) 54.3669 (iv) 56.3669 (v) 52.3669

13. 87.3	−	______	=	69.7
(i) 16.6 (ii) 17.6 (iii) 19.6 (iv) 18.6 (v) 15.6

14. 0.84	−	______	=	-22.93
(i) 22.77 (ii) 25.77 (iii) 23.77 (iv) 24.77 (v) 21.77



15. 93.401	−	______	=	28.543
(i) 63.858 (ii) 62.858 (iii) 66.858 (iv) 64.858 (v) 65.858

16. 45.5598	−	______	=	54.9839
(i) -11.4241 (ii) -10.4241 (iii) -8.4241 (iv) -9.4241 (v) -7.4241

17. 7.09	+	2	=	______
(i) 11.09 (ii) 9.09 (iii) 8.09 (iv) 10.09 (v) 7.09

18. 6.03	−	7	=	______
(i) 7.03 (ii) 6.03 (iii) 1.03 (iv) -0.97 (v) 0.03

19. The	value	of	9.8	+	9.09	is
(i) 18.890 (ii) 18.790 (iii) 18.690 (iv) 19.090 (v) 18.990

20. The	value	of	95.3	+	28.3	is
(i) 123.800 (ii) 123.600 (iii) 123.700 (iv) 123.500 (v) 123.400

21. The	value	of	279.0608	+	355.954	is
(i) 634.9148 (ii) 635.1148 (iii) 634.8148 (iv) 635.2148 (v) 635.0148

22. The	value	of	63.9	+	17.0007	is
(i) 81.1007 (ii) 80.9007 (iii) 81.0007 (iv) 80.8007 (v) 80.7007

23. The	value	of	3.06	−	5.7	is
(i) -2.64 (ii) -2.74 (iii) -2.84 (iv) -2.54 (v) -2.44

24. The	value	of	83.88	−	90.5	is
(i) -6.82 (ii) -6.52 (iii) -6.62 (iv) -6.42 (v) -6.72

25. The	value	of	7.081	−	33.8	is
(i) -26.519 (ii) -26.619 (iii) -26.719 (iv) -26.919 (v) -26.819

26. The	value	of	107.106	−	127.91	is
(i) -20.704 (ii) -20.804 (iii) -20.604 (iv) -20.904 (v) -21.004

27. 57.5	+	______	=	148.6
(i) 91.1 (ii) 92.1 (iii) 90.1 (iv) 89.1 (v) 93.1

28. 72.51	+	______	=	142.25
(i) 70.74 (ii) 67.74 (iii) 68.74 (iv) 69.74 (v) 71.74

29. 99.036	+	______	=	151.134
(i) 53.098 (ii) 51.098 (iii) 52.098 (iv) 54.098 (v) 50.098

30. 34.5432	+	______	=	119.6874
(i) 83.1442 (ii) 86.1442 (iii) 85.1442 (iv) 87.1442 (v) 84.1442



31. 45.1	−	______	=	-40.4
(i) 83.5 (ii) 86.5 (iii) 87.5 (iv) 84.5 (v) 85.5

32. 83.27	−	______	=	23.37
(i) 61.9 (ii) 57.9 (iii) 58.9 (iv) 60.9 (v) 59.9

33. 36.757	−	______	=	-7.904
(i) 46.661 (ii) 43.661 (iii) 44.661 (iv) 45.661 (v) 42.661

34. 64.5450	−	______	=	-19.1688
(i) 83.7138 (ii) 81.7138 (iii) 82.7138 (iv) 84.7138 (v) 85.7138

35. 7.02	+	1	=	______
(i) 7.02 (ii) 6.02 (iii) 9.02 (iv) 10.02 (v) 8.02

36. 3.07	−	6	=	______
(i) -2.93 (ii) 4.07 (iii) 8.07 (iv) 5.07

37. 3	+	4.04	=	______
(i) 9.04 (ii) 8.04 (iii) 7.04 (iv) 6.04 (v) 5.04

38. 7	−	7.09	=	______
(i) -0.09 (ii) 1.91 (iii) 0.91 (iv) 7.91 (v) 6.91
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